Problem A:
RAZR % |

RIRE{ERE: UTPC2010 R4AvTI—[E
fREERC: I\ %" m*‘
figgh: IR




[l REABE 22

AERC LISSEBORBNEZ LGNS
ABRD AT RORXELR/MEZFTHE X

aER 1 49 50 87 18 41
BLER? 21 61 100 45 84
aER3 28 88 40 95 66



HBERRE

L BT




e S

reteHE: 65
IRHHAE: 56
IEfRREN: 96
KYIOERSE: MEESA(5)




Problem B:
ELLFIvh—

RIRR{ERL: AbJI
fREERL: ZaE- 1R
B IR



[l REABE 22

ELDEHEBS—HLAFLTNSELOYR
FREZ NS

BRETOEHEEHZHFE L &L
11111112 1000000 01203291
skokskskkkD 2 1000 02382022

skkkkkkk | 100 11111111



BERRE

1 X051
S EEDOA—/\7O—IT DWW TIFHIZRIZT S
H(ILLNTT
LETEHOER + EXCO#H#E < 28
AV TUAMRBEHZY O TILA TR REEST
zL1-. BLERHYFEHFA




e S

feteth®h: 65
IRHHAE: 56
IEfRREN: 96
RAIDIERES . MEH®SA CF)




Problem C:
=pIAC O]V

PRE4ERE: UTPC2010 RAvI—[E
fRE1ERL: dL)-BE




[ RAHE R

SESEAT=WET—LOBENEZIoND
EH#TREE &



BERRE

BIREXIZEVWVTHIBYICEEKTS
BmElIo+12&/nSWOTERERZE THEYEL
THRATHIZED
BEHNZ—B=1TTOAIETHEDLELLY
ERWET




FEEIF

BLOESKIFIADLL ES>DUL\TLWTHEHA LY
(Yo7 ILDLIER)

BIEFIC2EILL EOBRAVER RIS 1 EHEAL
.g—

TNy HhEHSEHL

ST ILARARHENENMDELELD




e S

reteti®: 90
IRHHAR: o4
IEfRREN: Ol
RYIDIERRE FEHBSA (205)




Problem D:
BIEGTHEAMR

PR B
REMERL: J\ - /INE
R PR




[l REABE 22

BHUDEBRBAUNEZoNDDTH,

ESHIER K

i1 (P FE 75 451)
Tkm = 1073 m

Im =10"2 cm

1 km = 1075 cm
B2 (FELTLNBH0)
Tkm = 1073 m

Im =10"2 cm

1 km = 1074 cm

aLTadh



BERRE

752

Bz /—FELT. ERRAZTIYOELIZTS
J%{EflT 5

IVvoNEHMIBRELLS

O
.0




FELTH7T—A()

0 BRTOEHDOCELEVEBNEFEET S




FELTHT7T—A(2)

O RERICEOTHOIRDOHEIRNDEADREGS

4

@3




BEME (1)

0 E2TH/—FMEDFSLT, FENESTHINEE
FIvP9T 5



HBEMIE (2)

& (1) DIyTIcmA, BEHEAESEFILETYS
EFFMAD

TIIIERBRNEFEELGTNIE 7 Yes” | HFEY
niE “No”

BB OK®E(IWarshal |-Floyd 7YX LE{EZ [F



e S

feteti®: 160
IRHHAE: 53
IEfRREN: 43
RYIDIERESE . RIRMESA (145)




